#1
a) a + s = 400
     6a+4s=1750




b)  =
c) a=75, s=325
d)
 [image: ]
e) By plugging answers into original equations, you could verify the result.

#2
a) x+y=65
20x+25y=1500



b) =       x=25, y=40
c) Method such as graphs or tables
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#3


a) 
          T     S                      T        S






b)  =




c) =

d) T=15
    S=20

e) 6T+ S=110
    4T+2S=100
Microsoft_Equation2.bin

image5.png




image6.pict

Microsoft_Equation3.bin

image7.png
400
1750}





image8.pict

Microsoft_Equation4.bin

image9.gif
(75,3





image10.png
1
20 25]




image11.pict

Microsoft_Equation5.bin

image12.png




image13.pict

Microsoft_Equation6.bin

image14.png




image15.pict

Microsoft_Equation7.bin

image16.gif
(25.00¢

00,

.0000)





image17.png




image18.pict

Microsoft_Equation8.bin

image19.png




image20.pict

Microsoft_Equation9.bin

image21.png




image22.pict

Microsoft_Equation10.bin

image23.png




image24.pict

Microsoft_Equation11.bin

image25.png




image26.pict

Microsoft_Equation12.bin

image27.png




image28.pict

Microsoft_Equation13.bin

image29.png




image30.pict

Microsoft_Equation14.bin

image31.png
[

10
140

50
100}

l




image1.png




image32.pict

Microsoft_Equation15.bin

image33.png




image34.pict

Microsoft_Equation16.bin

image35.png




image36.pict

Microsoft_Equation17.bin

image37.png
|

110]
100}

l




image38.pict

image2.pict

Microsoft_Equation18.bin

Microsoft_Equation1.bin

image3.png




image4.pict





